
OXY1078-M2 Black C Washer

M2x5 Hex Cap Screw
( add loctite 243 )

Canopy Male

OXY3-Canopy Male Assembly
note: install both side the canopy Male into canopy

note : this small tab Left and Right nose to Tail of Heli 

OSP-1262-OXY3/4 Magnet Canopy Post

A

M2x5 Hex Cap Screw
( add loctite 243 )

M2x4 Hex Cap Screw
( add loctite 243 )

M2x4 Hex Cap Screw
( add loctite 243 )

3x6x1.7 Bushing

OXY3 Magnet Stiffener Canopy

OXY3 Magnet Stiffener Canopy

OXY3 Left Canopy Female Assembly OXY3 Right Canopy Female Assembly

Canopy Female

3x6x1.7 Bushing

OXY3 Magnet Stiffener Canopy

Canopy Female

Gromet Canopy



M2x6 Hex Cap Screw
( loctite 243 )

M2x5 Hex Cap Screw
( loctite 243 )

OXY1078-M2 Black C Washer

Gromet Canopy

Canopy Male

OXY4 Left Canopy Female Assembly

OXY3-Canopy Male Assembly
note: install both side the canopy Male into canopy

OXY4 Right Canopy Female Assembly

Canopy Female

3x6x1.7 Bushing

OXY4 Magnet Stiffener Canopy Bushing

M2x4 Hex Cap Screw

M2x4 Hex Cap Screw
( add loctite 243 )

3x6x1.7 Bushing

OXY4 Magnet Stiffener Canopy Bushing

Canopy Female




	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5
	Detail View A (3 : 1)

	Sheet1(2)
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15

	Sheet2

